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DU PhD in East Asian Studies

Topic:‐ EAS PHD S2

Which scholar is associated with neo‐realism theory in international relations?
[Question ID = 1477]

1. Jawaharlal Nehru [Option ID = 5902]
2. Kenneth Waltz [Option ID = 5903]
3. Richard Ashley [Option ID = 5904]
4. Chanakya [Option ID = 5905]

Correct Answer :‐

Kenneth Waltz [Option ID = 5903]

What is the main idea behind a neoliberal state?
[Question ID = 1478]

1. Free market [Option ID = 5906]
2. Theocracy [Option ID = 5907]
3. Socialism [Option ID = 5908]
4. Feudalism [Option ID = 5909]

Correct Answer :‐

Free market [Option ID = 5906]

Which of the following scholars are associated with subaltern perspective?
[Question ID = 1479]

1. John Maynard Keynes [Option ID = 5910]
2. JA Hobson [Option ID = 5911]
3. Ranajit Guha [Option ID = 5912]
4. George Bush [Option ID = 5913]

Correct Answer :‐

Ranajit Guha [Option ID = 5912]

Who promoted the idea of building ‘perpetual peace’ through increased international trade and democracy?
[Question ID = 1480]

1. Immanuel Kant [Option ID = 5914]
2. Fredrick Hegel [Option ID = 5915]
3. Karl Marx [Option ID = 5916]
4. Mao Zedong [Option ID = 5917]

Correct Answer :‐

Immanuel Kant [Option ID = 5914]

The concept of nation‐states as sovereign political entities emerged after which of the following treaties?
[Question ID = 1481]

1. Treaty of Normandy [Option ID = 5918]
2. Treaty of Westphalia [Option ID = 5919]
3. Treaty of San Francisco [Option ID = 5920]
4. Treaty of Philadelphia [Option ID = 5921]

Correct Answer :‐

Treaty of Westphalia [Option ID = 5919]

Who regarded imperialism as the highest stage of capitalism?
[Question ID = 1482]

1. Vladimir I Lenin [Option ID = 5922]
2. John F Kennedy [Option ID = 5923]
3. Margret Thatcher [Option ID = 5924]
4. Francis Fukuyama [Option ID = 5925]

Correct Answer :‐

Vladimir I Lenin [Option ID = 5922]

Social scientist Max Weber is associated with which of the following concepts?
[Question ID = 1483]

1. Bureaucracy [Option ID = 5926]
2. Socialism [Option ID = 5927]
3. Constructivism [Option ID = 5928]
4. Feminism [Option ID = 5929]
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Correct Answer :‐

Bureaucracy [Option ID = 5926]

Who is an ancient Greek realist scholar?
[Question ID = 1484]

1. Thucydides [Option ID = 5930]
2. Niccolo Machiavelli [Option ID = 5931]
3. Thomas Hobbes [Option ID = 5932]
4. Morgenthau [Option ID = 5933]

Correct Answer :‐

Thucydides [Option ID = 5930]

Who is not associated with Constructivism?
[Question ID = 1485]

1. John Ruggie [Option ID = 5934]
2. Alexander Wendt [Option ID = 5935]
3. Richard Ashley [Option ID = 5936]
4. Antonio Gramsci [Option ID = 5937]

Correct Answer :‐

Antonio Gramsci [Option ID = 5937]

Sea of Japan is also known by which of the following names?
[Question ID = 1486]

1. North Sea [Option ID = 5938]
2. East Sea [Option ID = 5939]
3. South Sea [Option ID = 5940]
4. West Sea [Option ID = 5941]

Correct Answer :‐

East Sea [Option ID = 5939]

Joint Security Area (JSA) is located in which place of the Korean Peninsula?
[Question ID = 1487]

1. North Korea [Option ID = 5942]
2. Sino‐North Korean border [Option ID = 5943]
3. Demilitarized Zone [Option ID = 5944]
4. South Korea [Option ID = 5945]

Correct Answer :‐

Demilitarized Zone [Option ID = 5944]

Zainichi is the term used for Koreans living in which country of the world?
[Question ID = 1488]

1. North Korea [Option ID = 5946]
2. China [Option ID = 5947]
3. Russia [Option ID = 5948]
4. Japan [Option ID = 5949]

Correct Answer :‐

Japan [Option ID = 5949]

Who is called the ‘Gandhi of Korea’?
[Question ID = 1489]

1. Kim Dae‐jung [Option ID = 5950]
2. Choe Nam‐son [Option ID = 5951]
3. Kim Il‐sung [Option ID = 5952]
4. Cho Man‐sik [Option ID = 5953]

Correct Answer :‐

Cho Man‐sik [Option ID = 5953]

Which of the following is not a South Korean company?
[Question ID = 1490]

1. Nissan [Option ID = 5954]
2. Samsung [Option ID = 5955]
3. Doosan [Option ID = 5956]
4. Kia [Option ID = 5957]

Correct Answer :‐

Nissan [Option ID = 5954]

In which year Park Chung‐hee came to power through a military coup in South Korea?
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[Question ID = 1491]
1. 1951 [Option ID = 5958]
2. 1961 [Option ID = 5959]
3. 1971 [Option ID = 5960]
4. 1981 [Option ID = 5961]

Correct Answer :‐

1961 [Option ID = 5959]

The Korean word posu refers to which political ideology?

[Question ID = 1492]
1. Conservative

[Option ID = 5962]
2. Fascist

[Option ID = 5963]
3. Nationalist

[Option ID = 5964]
4. Progressive

[Option ID = 5965]

Correct Answer :‐

Conservative

[Option ID = 5962]

Which of the following is not a province of South Korea?
[Question ID = 1493]

1. Gangwon [Option ID = 5966]
2. South Jeolla [Option ID = 5967]
3. Gyeonggi‐do [Option ID = 5968]
4. Namsan [Option ID = 5969]

Correct Answer :‐

Namsan [Option ID = 5969]

A research problem is
[Question ID = 1494]

1. What it is that you want to find out about [Option ID = 5970]
2. What you think you must find [Option ID = 5971]
3. How to establish your hypothesis [Option ID = 5972]
4. What your research output is [Option ID = 5973]

Correct Answer :‐

What it is that you want to find out about [Option ID = 5970]

An open‐ended question used in research involves
[Question ID = 1495]

1. Responses that are not given [Option ID = 5974]
2. Responses that are set out in the questionnaire [Option ID = 5975]
3. Respondent ticks the answers [Option ID = 5976]
4. Questions are qualitatively recorded in categories [Option ID = 5977]

Correct Answer :‐

Responses that are not given [Option ID = 5974]

A random sampling is
[Question ID = 1496]

1. Same as probability sampling [Option ID = 5978]
2. Same as convenience sampling [Option ID = 5979]
3. Same as non‐probability sampling [Option ID = 5980]
4. Not representative of the whole population [Option ID = 5981]

Correct Answer :‐

Same as probability sampling [Option ID = 5978]

Bias in the selection of a sample can occur if

[Question ID = 1497]
1. The sampling is done by a non‐random method

[Option ID = 5982]
2. The sampling frame does not cover the sampling population completely
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[Option ID = 5983]
3. A section of a sampling population refuses to cooperate

[Option ID = 5984]
4. All of these

[Option ID = 5985]

Correct Answer :‐

All of these

[Option ID = 5985]

Which of the following is not a graphic representation?
[Question ID = 1498]

1. Pie Chart [Option ID = 5986]
2. Bar Chart [Option ID = 5987]
3. Table [Option ID = 5988]
4. Histogram [Option ID = 5989]

Correct Answer :‐

Table [Option ID = 5988]

Content analysis uses which of the following methods?

[Question ID = 1499]
1. Counting

[Option ID = 5990]
2. Classifying

[Option ID = 5991]
3. Recording

[Option ID = 5992]
4. All of these

[Option ID = 5993]

Correct Answer :‐

All of these

[Option ID = 5993]

A satisfactory statistical quantitative method should not possess one of the following qualities
[Question ID = 1500]

1. Flexibility [Option ID = 5994]
2. Measurability [Option ID = 5995]
3. Comparability [Option ID = 5996]
4. Appropriateness [Option ID = 5997]

Correct Answer :‐

Flexibility [Option ID = 5994]

What do you consider as the main aim of inter disciplinary research?
[Question ID = 1501]

1. To over simplify the problem of research [Option ID = 5998]
2. To bring out holistic approach to research [Option ID = 5999]
3. To create a new trend in research methodology [Option ID = 6000]
4. To reduce the emphasis of single subject in research domain [Option ID = 6001]

Correct Answer :‐

To bring out holistic approach to research [Option ID = 5999]

The study in which the investigators attempt to trace an effect is known as
[Question ID = 1502]

1. Survey research [Option ID = 6002]
2. Historical research [Option ID = 6003]
3. Summative research [Option ID = 6004]
4. ‘Ex‐post Facto’ research [Option ID = 6005]

Correct Answer :‐

‘Ex‐post Facto’ research [Option ID = 6005]

The Sino‐Soviet split occurred due to the following reasons, except one
[Question ID = 1503]

1. China’s tilt towards the US [Option ID = 6006]
2. De‐Stalinization [Option ID = 6007]
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3. Mao’s GLF [Option ID = 6008]
4. Ussuri River Crisis [Option ID = 6009]

Correct Answer :‐

China’s tilt towards the US [Option ID = 6006]

The book ‘The Great Divergence’ is about
[Question ID = 1504]

1. The rationale for Industrial revolution in Europe [Option ID = 6010]
2. China’s Rise [Option ID = 6011]
3. The Fourth Industrial revolution [Option ID = 6012]
4. Comparative ideologies of China and Europe [Option ID = 6013]

Correct Answer :‐

The rationale for Industrial revolution in Europe [Option ID = 6010]

The book ‘Shadow States’ is about
[Question ID = 1505]

1. India‐China relations from foreign policy perspective [Option ID = 6014]
2. India‐China strategic relations [Option ID = 6015]
3. India‐China competitive state‐building processes [Option ID = 6016]
4. India‐China State centric analysis [Option ID = 6017]

Correct Answer :‐

India‐China competitive state‐building processes [Option ID = 6016]

Both Frederick Turner and Owen Lattimore have focused on the issue of
[Question ID = 1506]

1. Significance of Chinese history [Option ID = 6018]
2. Significance of frontier [Option ID = 6019]
3. Confucianism [Option ID = 6020]
4. Significance of Chinese world order [Option ID = 6021]

Correct Answer :‐

Significance of frontier [Option ID = 6019]

Whose name is associated with the invention of paper
[Question ID = 1507]

1. An‐Lu Shan [Option ID = 6022]
2. ZaiLun [Option ID = 6023]
3. Zeng Tou [Option ID = 6024]
4. Sima Qian [Option ID = 6025]

Correct Answer :‐

ZaiLun [Option ID = 6023]

The notion of ‘de’ in China is associated with

[Question ID = 1508]
1. Sovereignty

[Option ID = 6026]
2. Virtue

[Option ID = 6027]
3. Kingly way

[Option ID = 6028]
4. All of these

[Option ID = 6029]

Correct Answer :‐

All of these

[Option ID = 6029]

XunZi is Chinese
[Question ID = 1509]

1. Military general who wrote the Art of War [Option ID = 6030]
2. Zhou ruler [Option ID = 6031]
3. Chinese famous Song painter [Option ID = 6032]
4. Chinese Confucian philosopher [Option ID = 6033]

Correct Answer :‐

Chinese Confucian philosopher [Option ID = 6033]
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Wei Yuan is associated with the work on
[Question ID = 1510]

1. Illustrated Treatise on the Maritime Kingdoms [Option ID = 6034]
2. On the Young China [Option ID = 6035]
3. Confucius as a reformer [Option ID = 6036]
4. The origin of writing [Option ID = 6037]

Correct Answer :‐

Illustrated Treatise on the Maritime Kingdoms [Option ID = 6034]

JICA refers to
[Question ID = 1511]

1. Japan International Cooperation Agency [Option ID = 6038]
2. Japan International Cooperation Association [Option ID = 6039]
3. Japan International Cultural Association [Option ID = 6040]
4. None of the above [Option ID = 6041]

Correct Answer :‐

Japan International Cooperation Agency [Option ID = 6038]

Which of the following partner city agreement was signed during  Narendra Modi’s first visit to Japan as the Prime
Minister of Japan?
[Question ID = 1512]

1. Kyoto‐Varanasi Partner City Agreement [Option ID = 6042]
2. Kyoto‐Ahmedabad Partner City Agreement [Option ID = 6043]
3. Osaka‐Mumbai Partner City Agreement [Option ID = 6044]
4. Tokyo‐New Delhi Partner City Agreement. [Option ID = 6045]

Correct Answer :‐

Kyoto‐Varanasi Partner City Agreement [Option ID = 6042]

Malabar Exercise is trilateral naval exercise involving which of the following countries as permanent members?
[Question ID = 1513]

1. India, USA, China [Option ID = 6046]
2. India, USA, Australia [Option ID = 6047]
3. India, USA, Japan [Option ID = 6048]
4. India, USA, Singapore [Option ID = 6049]

Correct Answer :‐

India, USA, Japan [Option ID = 6048]

Which of the following is believed to be the first Indian to have visited Japan?
[Question ID = 1514]

1. Subhash Chandra Bose [Option ID = 6050]
2. Jawaharlal Nehru [Option ID = 6051]
3. Bodhisena [Option ID = 6052]
4. Nagarjuna [Option ID = 6053]

Correct Answer :‐

Bodhisena [Option ID = 6052]

Which is Japan’s national legislature?
[Question ID = 1515]

1. Parliament [Option ID = 6054]
2. Diet [Option ID = 6055]
3. Assembly [Option ID = 6056]
4. Senate [Option ID = 6057]

Correct Answer :‐

Diet [Option ID = 6055]

Which is the first of the treaties to be signed between Japan and a Western country in the 19  century?

[Question ID = 1516]
1. Treaty of Kanagawa

[Option ID = 6058]
2. Treaty of Yokohama

[Option ID = 6059]
3. Treaty of Kobe

[Option ID = 6060]
4. Treaty of Tokyo

[Option ID = 6061]

th
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Correct Answer :‐

Treaty of Kanagawa

[Option ID = 6058]

Which is the native religion of Japan?
[Question ID = 1517]

1. Shinto [Option ID = 6062]
2. Buddhism [Option ID = 6063]
3. Daoism [Option ID = 6064]
4. Confucianism [Option ID = 6065]

Correct Answer :‐

Shinto [Option ID = 6062]

What is Japanese style of flower arrangement called?
[Question ID = 1518]

1. Kimono [Option ID = 6066]
2. Kabane [Option ID = 6067]
3. Ikebana [Option ID = 6068]
4. Shiwane [Option ID = 6069]

Correct Answer :‐

Ikebana [Option ID = 6068]

What is the name of the Japanese Army that invaded Manchuria in 1931?
[Question ID = 1519]

1. Manchukuo Army [Option ID = 6070]
2. Manchurian Army [Option ID = 6071]
3. Kwantung Army [Option ID = 6072]
4. INA [Option ID = 6073]

Correct Answer :‐

Kwantung Army [Option ID = 6072]

What is the study of aging and elderly referred to as?
[Question ID = 1520]

1. Gerontology [Option ID = 6074]
2. Soteriology [Option ID = 6075]
3. Oncology [Option ID = 6076]
4. None of the above [Option ID = 6077]

Correct Answer :‐

Gerontology [Option ID = 6074]

The method of analyzing different societies or cultures objectively without using the values of one culture to judge the
worth of another is known as
[Question ID = 1521]

1. Cultural Objectification [Option ID = 6078]
2. Cultural Relativism [Option ID = 6079]
3. Culture Evaluation [Option ID = 6080]
4. None of the above [Option ID = 6081]

Correct Answer :‐

Cultural Relativism [Option ID = 6079]

Who is the author of the book Chrysanthemum and the Sword?

[Question ID = 1522]
1. Ruth Benedict

[Option ID = 6082]
2. Talcott Parsons

[Option ID = 6083]
3. R. K. Merton

[Option ID = 6084]
4. Emile Durkheim

[Option ID = 6085]

Correct Answer :‐

Ruth Benedict

[Option ID = 6082]
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Who is the author of Tokugawa Religion?

[Question ID = 1523]
1. Robert N Bellah

[Option ID = 6086]
2. Ruth Benedict

[Option ID = 6087]
3. Winston Davis

[Option ID = 6088]
4. None of the above

[Option ID = 6089]

Correct Answer :‐

Robert N Bellah

[Option ID = 6086]

Which of the following city will host the Olympic Games in 2020?
[Question ID = 1524]

1. Tokyo [Option ID = 6090]
2. Nagano [Option ID = 6091]
3. Nagoya [Option ID = 6092]
4. Osaka [Option ID = 6093]

Correct Answer :‐

Tokyo [Option ID = 6090]

Who is the present Emperor of Japan?
[Question ID = 1525]

1. Hirohito [Option ID = 6094]
2. Naruhito [Option ID = 6095]
3. Akihito [Option ID = 6096]
4. Meiji [Option ID = 6097]

Correct Answer :‐

Naruhito [Option ID = 6095]

What is the name of the present Empress of Japan?
[Question ID = 1526]

1. Michiko [Option ID = 6098]
2. Masako [Option ID = 6099]
3. Aiko [Option ID = 6100]
4. Kako [Option ID = 6101]

Correct Answer :‐

Masako [Option ID = 6099]
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